
25
PIEZAS Código

4205A

CONTENIDO
PIEZAS DESCRIPCIÓN

3 Tornillo 3/8” - 16NC x 4”
3 Tornillo 3/8” - 24NF x 2”
3 Tornillo 55/16” - 18NC x 2”
3 Tornillo M8 - 1,25mm x 80mm”
3 Tornillo M10 - 1,50 x 50mm”
3 Tornillo 1/4” - 28NF x 3”
3 Tornillo 5/16” - 24NF x 3 1/2”
3 Tornillo 5/16” - 18NC x 4 1/2”
1 Tornillo central 5/8” - 18NF x 5” (con punta)
1 Tornillo central 5/8” - 18NF x 6 1/2” (con punta)
1 Extractor


